[ Efficiency vs vertpos |

0.95L H H
1072 10 1

10 0?
TP vertr (cr%)

—=— DQM_V000L_R000000001__Global__mkFit_batch
Efficiend —— pom_v0001_R000000001__Global__mkFit_NObatch

~ 0.05 T T T T T
B0t o

o : : : : :
>0.04F------ LR SRERCREE R S e
3 E : : : : :
e SRR SLTLE] LR B
5 E : : : :
£ 0,08+ oo
] o : : : :
0.025F------ R S b FEEE P
002w
0018 i
Rt ) L Sl L S

o T e Lateees e
.0

Ratio

H
T
-

30 -20 -10 O 10 20 30
TP vert z (cm)

0.95!

[ Efficiency vs. sim PV z |
~ 0.0% . T T T T T X
> 3 T TS T A

00.009F -~ P T AR o

B 008+ oo
B.007E- - b
PN E : : : : : : :
&).006:—""5 """ e e R (AR A
] Eo : : : : : :
@-005:—""':""_'"'5 """ o SRR SRR AR
9] E : : : : : : :
0.004f---isfrrriemmrprieeeees SR AR e

e S B EARRE S ERUI HA
0.002f+++i-f-e++i el
0.001F-+++irfhores | oo oo

J..h'U) .

Ratio

Lo 8 6 -4 -2 0 2 4
Sim. PV z (cm)



	Contents
	Page 1


